EARAROBEEIERT — 2 N— IBISH —F

2019868120 (k) 7EEM4H

I C3— H5R4m L (xwlw | lmEmml - |5 @) o 8
[A&4£] 1 7% :300,000" ~ 23%&:84,000H”  33&:42,000” 437 :30,000H . 5 7&:24,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . TEE :32. -4-3- 8| — M (EH)
1 6l A1vamT ey B 5 I 1(3_2)4 4-4-3-1 | 40.8 2 (4_(:) ER !
RIS T 4 BALA—RAN—LT) =Y B
N H o6 | B 1:32.5 6-6-5-3 |40.7| — 1 470 | EFIEX (FEHH)
2|5|5| FE/TAF v 56.0 (7 E) +3) (B J P NEH
LIV NATA—h— B:HILT hylb— N 455
. N [IEE)EZN . -9-9— - g (BR
31l 7>beok 44 L 1.(35.0 9-9-9-8 |39.8 6 <4+621) pxE
RZAZHT KR BRRFv > NGRS
N B R AEXE . 34— — RAURFE (BMR)
4lglo| 7y FPEUF« LI et 173?:5) 3-3-4-6 | 41.5 4 <4+337) e
R:TZyTRAK B U MLI—A—F NRVES )
: s 5 | JIEE— 1:33.4 7-7-7-5 | 41.3| — 5 439 | FAEFI— (FfH)
5(7|8 | 77/ 747 —F 54.0 (21/2) 45) | (B 747 k=T 2T
R:I—-3>T747—-FK B:¥H/T T BNEBEHNS
PSS #10 | AURE 1:33.6 10-10-10-10{ 40.2 | — 10 | 451 | WociEE (Flk)
EH 3 J7—% 56.0 (11/2) 1) (#%) 77—ZAbEY 3>
R:xA21=G7—X B:J+—7)>F =Y Ty—L
— N AEE :33. ~5-6- . - IO#E (k)
gl 7510z B 7 . 1(33/3207 5-5-6-7 | 41.9 9 ;1;7) nose
LTUBAZIIL R BT RT 1T b BEHT T — L
i 3 4 5 | FHE— 1:33.8 8-8-8-9 |41.1| — 7 429 | XIREE (EH)
8 4|7V —o— 54.0 (7€) o) |B#Y
Y9G J52 B:7072—-Y3> 75 Kis
SV e # o6 | ERAIE 1:34.4 1-1-1-2 | 43.5| — 3 476 | REHES (ER)
oY 2| XTI INT 5.0 3 1/2) © | 40 Fr—2rEvas
RVLKRYIYRIRX BiAZATUL e
s 4 | EHEME 1:35.2 2-2-2-4 | 44.1| — 8 491 | XEE= (ER)
10l8l10| 7V 7/ H—1 54.0 (5) 43 | BANI
LA Lk—L B:FZXRNTZY— b NSRS
® 1—F—@EBIERL
12—7+— 2,10,9,6,7,5,8,4,1,3
20—F— 2,10,9,6,7,5,8,4,1,3
Ja=5= 2,10,6,9,5,7,8,4,1,3
40—F— 6,2,5,10,8,9,7,1,4,3
[ N5
B 6 290M 714K 5-6 200M e E 5-6 350 JEE 1-5-6 1,310
B B 6 1204 1-6 700M B = 5-6 370 EE 6-5-1 3,710
5 110 1-5 590M B H 6-5 630M
1 1909

ABICOVWTRDTEEERROODE. TR LIV,




